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If length of simple pendulum on Earth is 1 in
then its time peiord is.

T
@ 2 ® 5
27 £
(©) (d) 5
The main categories of waves are:
(@ 1 (b) 2
() 3 (d) 4

Radio waves are:
(a) Longitudinal waves (b) Transverse waves
(c) Electromagnetic waves (d) All of these
The sensation of sound persists in our mind is:
(a) (b)

() 0.02s (d)
The human eye has:

0.01s 0.1s

02s

(a) Convex mirror (b) coneavelense

(c) (d)

Which type of images is formed by a convex
lense on screen?

Convex lense convex lense

(a) linverted & real
(c) upright & real

(b) Inverted & Virtual
(d) upright & virtaul

According to Columb's law what happens to
froce of attraction of two oppositely charged

objects as their distance of separation increases?

(a)  increses (b)  Decreases
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(c)Remains unchanged (d)Cannot be determined (¢)

SI unit of capacitance is:

(a) Newton (b) Volt

(¢)  Coloumb (d) Farad
The ST unit of charge is:

(a) VoIt (b)  Coulomb
(c)  Ampere (d Ohm

An electric current in conductors is due to the
flow of:

(b)
(d)

(a) Positive ions Negative ions

(c) Positive charges Free electrons
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